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QUESTION 1

-- Exhibit

R1

ge-0/0/1 10.10.10.2/24
10.10.10.1/24

[edit protocols pim]

userikld# show

intarface ge-0/0/1.0
node =parse;

-- Exhibit -Click the Exhibit button.

Your company has PIM running on some critical routers in your network, but another engineer has requested that you
configure a PIM policy to prevent R2 from becoming a PIM neighbor of R1 by dropping the hello packets.

Referring to the exhibit, which three commands are necessary for preventing R2 from becoming a PIM neighbor of R1?
(Choose three.)

A. set protocols pim interface ge-0/0/1.0 neighbor-policy block-pim

B. set policy-options policy-statement block-pim term 1 from route-filter 227.2.2.2/32 exact
C. set policy-options policy-statement block-pim term 1 from route-filter 10.10.10.2/32 exact
D. set policy-options policy-statement block-pim term 1 then reject

E. set policy-options policy-statement block-pim term 1 from route-filter 10.10.10.1/32 exact

Correct Answer: ACD

QUESTION 2

-- Exhibit
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Rool Bridge

SWW1

A0 ge-0/0/0

ar)

qe-0f 1\

ge-0/0/0 ge-010/1

SW3

-- Exhibit -

Click the Exhibit button.
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Referring to the exhibit, which two statements are true regarding the MSTP port role and port state of ge- 0/0/0 and

ge-0/0/1 on SW1?

A. Port ge-0/0/0 is a root port and ge-0/0/1 is an alternate port.

B. Both ports are designated ports.

C. Both ports are in a forwarding state.

D. Port ge-0/0/0 is a root port and ge-0/0/1 is in a forwarding state.

Correct Answer: BC

QUESTION 3

Which version of BGP would an enterprise use to peer with an ISP?
A. Confederation BGP

B. External BGP

C. Internal BGP

D. Labeled-Unicast

Correct Answer: C

QUESTION 4
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You notice that a number of IGMP leave group messages are passing through a BMA network and are impacting the
network\\'s performance.

What would you do to resolve this issue without affecting multicast traffic?
A. Apply an import policy to control leave group messages.

B. Suppress group-specific queries.

C. Suppress generic IGMP queries.

D. Enable promiscuous-mode in IGMP.

Correct Answer: B

QUESTION 5
You have certainly implemented the configuration shown in the exhibit. After committing these changes, the community

devices connected to AS-1 are not able to communicate with the appropriate community devices connected to AS-2.
What must be done to allow these community devices to communicate?
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A. You must configure an isolation VLAN ID Under the pvlan-200 on the AS2 switches

B. You must configure the ge-0/0/10 interface on AS1 AS THE VPLAN on both switches
C. You must configure an isolation VLAN ID under the VLAN 200 ON both switches
D. You must configure the ge-0/012 interface on both switches as P VLAN trunks

Correct Answer: D
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